This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 16 - Banchory and Mid Deeside

4,832

3

1,209

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andy BROWN	Scottish Labour Party	536
Yi-pei CHOU TURVEY	Scottish Liberal Democrats	1,040
Graeme CRAIB	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	35
Harriet CROSS	Scottish Conservative and Unionist	852
Eileen DURNO	Scottish National Party (SNP)	1,158
Ann ROSS	Scottish Conservative and Unionist	1,211
	Total	4,832

Candidate Ann ROSS Elected with 1,211 votes, being in excess of the quota of 1,209

This report contains the transfers results.

Stage 2 - Surplus of Ann ROSS

2.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Harriet CROSS	1,015	0.00165	1.67475
No further preference	45	0.00165	0.07425
Not transferred due to rounding			0.00185
	Total		2.00000

This report contains the transfers results.

Stage 3 - Exclusion of Graeme CRAIB

35.01485

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy BROWN	6	1.00000	6.00000
Transfer to Yi-pei CHOU TURVEY	9	1.00000	9.00000
Transfer to Harriet CROSS	11	1.00000	11.00000
Transfer to Eileen DURNO	3	1.00000	3.00000
Transfer to Andy BROWN	1	0.00165	0.00165
Transfer to Harriet CROSS	6	0.00165	0.00990
No further preference	6	1.00000	6.00000
No further preference	2	0.00165	0.00330
Not transferred due to rounding			0.00000
	Total		35.01485

This report contains the transfers results.

Stage 4 - Exclusion of Andy BROWN

542.06105

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Yi-pei CHOU TURVEY	291	1.00000	291.00000
Transfer to Harriet CROSS	59	1.00000	59.00000
Transfer to Eileen DURNO	103	1.00000	103.00000
Transfer to Yi-pei CHOU TURVEY	15	0.00165	0.02475
Transfer to Harriet CROSS	12	0.00165	0.01980
Transfer to Eileen DURNO	2	0.00165	0.00330
No further preference	89	1.00000	89.00000
No further preference	8	0.00165	0.01320
Not transferred due to rounding			0.00000
	Total		542.06105